L S (% 3= ), By

L S AL
MexmmFEE S-4 sovoeslll /7 =

)

A
=5
é.
K7 0TY0.03
/&
b-m
s 2 5 M
788 Sos 24 ,
>822 i’) 7 g % e s > = .
x5 ARiB T y— = e
*L - s — & o
i . 5 B2 X ;’g‘ ) \"—)‘J
Y : \Q 75 O\ ol SN me " g b ‘\
N BN oy riv N X
N N Y x5 9 \ P 7
* N {\? 41 o.s
¢J’¢/ a/
/6.2
Z#20 3
\
X AP
- o
£ A
N
N
22 D2
[ TEso————]
4
Y N
R o)
\
4.2
e 2-3?”1 7
} ) 1 N
e 25 w17 18
N =2/
223
v b /0. COHEZEE., TREEEEX(CETLISEENE LTRBELTLET,

b A W =27 : OREZRBMBAABNLNTHY . BEDRRE FRAEZBENBYET,
i ORESIZE>T. BREAEEENSLDTHEHY LA,




'5“ JOUT 10/ BO)X #ve= 4.7

: S0 2462 _?
; T g 5 4y
YUT0./PO0S)Kr2.50=_2.32 (~ K2 > 5
A ol 7 EDm 22 2 5
NC 33 e >
X=2523.353 O il
Y=—o37.526 — ‘r/’p “7
‘\ A

Bec 04T (0 80I% 12860 = 1275 |

Ton (02T 01P08)% fio0 = 0.26( |
LT

1 '
208 | ;
’ (= BT o MY l‘
\ 1A =24°52 IA=24°82 |
\ R =200 R =78750m “
, Cilk =93.78m CL=87.93m |
{ T L =47T.77~ T L =44.78m .
‘, Sokw, S 43 S.= 527 |
kil | |
\Q H 2 \
NNE kgsascons)=/ 227 % N ;k\\ >
‘ I 8
o 3 §
v N v
| T
\
|
( . bt
R ' z Y
I \ i
1= | | c
<‘ b
Sec§920 (10043)% 3.00 =3.0/~ s z30"
Tan §220°C0s934)x4..00 =Ze‘z4z(; 0. 63 LR
Q' JE;A ¥
Ay \ o P R IS O AR S e T ?z'zzzezf'jpm:.)/ 3’;
A=25¢0. 775 ' H-pa
; \

d=-165.295 s foay (reok g on < 4 00

To 135287 (0.2388)X2.50 = 2207

e NOBPEE 288/, bbd

L6.64 10,06

Sees—
P20, )

Yow 5°20/0.092

&7 Sec 220 (1p008 ) K 2.00 = 200

Sec 828(7.0/08) X 1260 = 2,64
? o §28 (2. 14 20)X 200

Sec BRE (/0102) X 2,00 = 2 02
Tom 8°25°Co/dBO) X/ 2. 52~ 1.8 5 (-
== 2\; 7 el

X 2820,
Z =9 44»72}35

= 2.30(

4
}5"

Rl

NEC

[

BE =2R aimnt = ¢7m"
LS =)87.50—(ces13°2b%197.50) = Ss4"™

Ve

35450@% = 4 (44 TIX LA IR Sim 15509 4 53.096™

292

20.72 ij o
&

Q“QW

0,56

’ Nee220’ (ro002) x3.02= 3.00
| Qaw R0 0.040T7)X200 T 2.8 (=

C
#28

]

=X (BTN X SIK) = RZT 477

=00,
2?7 D\ oWl F=% (2092 (26 XSin 13D = 1254 9™

B.0>V 20927 + 1282 -~ 2X28-I2 X[ % @ TF/3 =z0.72"
K]‘: 187 -/0.3 = 0. 29m

= 2P 72 K02 GxY =hoebmt
= oEAR = 12. 4D~ L o0 f =5 BH3 »>
%& .

XY FEREABAN 2% 0 F
féﬁéxmﬂ:m#fa o =%

ACDXYoBifk=453 086 —298497-8.543= 14 =
Lo 3= 145.746

222

=2&460p462
= D LI YYE

&’37‘32 —0.56 -T2 = “_‘4”

G o (= Qo 2R Qo ko7 )X 3.00 =_0:-L2 ¢~ - ’
3. 7Fm /122 m
2 %s. I B E | BEF & ¥ . ;
¥ 12 i |\BE BRI L A% we B A
| = | A |y T \BE R T s = e = 1 e | 4EpE | R
- , \
¢ 72-83 N 22°13 E| 23.24 [.,27/ |2 28258 L LY 23.432 b 23 432 |+ & LEL|+ 2. 627
A e p—o8 | S 73°885' & | 422 |0.277¢ |0 2602 (2. 247 L2422 t 22345 |- 2247 = o024, 453
X 12740 | S 7°40 W| &ho& |pooi |p. 334 S S44 2277 |+ 124.377 |- $6844 | = 4258, 44E
F 278 20 | N 2420 | £9.70 | 00929 | 0.2287 | S48 3 S 480 |+ $P 4SO |y Cucb3F 33, 3o
G S8c~c0 | o0’ B | $7.87 | J o000 | p0002 | $7.924 o ¢ r £7°57¢4 i i -
21 i i 2522 743"k = 3739, 572"
. ul " m 2
[N 7% 3,78 7872~ 148746 41652 =362 44" o COEEEE. :ttthlzﬁ?iii$¥l:|¥1¢é§%iﬁ¥4t LTIRELTWET,
2 Za & , - RSP OREZ HMBAABN LD THY . REDKREFRLTZBENHYET,
e \,ﬂ ﬁv B b e Ad e = (RAIReSERLL OL FITF ) =/ LB . OHEEI-k-T. BRENERShELOTEHY £t A
j)é R 8 % P e D M s = N3
N o> |

\ Rt 3
“:\.. U=

Q\ =/, 107.4 2

00
Lo




	page1
	page2

